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Quiz #9

Date: April 13, 2001

☺☺☺☺☺

a) In Chapter 12, what is meant by a challenger and a defender?

See Textbook

b) A prospective piece of equipment has the following marginal cost structure. Calculate (use shorthand notation) the EUAC for years 1 and 2 (you will need to calculate the EUAC if the equipment is held for 1 year and if it is held for 2 years).


Year
Total Marginal Cost

1 $18,000

2 $15,500

EUAC (if kept through year 1) = [$18,000(P/F, i,1)](A/P,i,1)

EUAC (if kept through year 2) = [$18,000(P/F,i,1)+15,500(P/F,i,2)](A/P,i,2)

a) What is the real interest rate if the market interest rate is 6% and the inflation rate is 3%?

i = i' + f + i'f

i' = (0.06-0.03)/(1+0.03) = 2.913%

b) $1m is invested in 2001 at 6% for 10 years. What is the REAL amount (at 2001 prices) of the balance after 10 years if the inflation rate is 3%?

1,000,000(F/P,2.913%,10)

